Progressive or Flat Taxes? (Handout 12)
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Under a progressive tax system, different incomes would pay different rates of tax. Above is a graph of reff(x), the effective tax rate as a function of income.
Part 1: Pre-activity

1) Estimate how much total taxes will be paid by individuals with incomes of…

a. $6000

b. $40,000

c. $110,000

d. $160,000

Show work!
2) Here, why can you simply multiply the rates you see with the entire income? (Remember how we could not do the same with marginal tax rates.) Explain clearly the difference between marginal and effective tax rates.

Part 2: Post-activity

3) What was your salary in the income tax simulation activity?

4) Did you support a progressive income tax, or a 20% flat tax? Why?

5) On the axes above, graph the line that represents a flat tax rate of 20%.

6) Is a person who earns $45,000 per year likely to support the flat tax or the progressive tax? Use this graph to explain your decision.

7) What about a person who earns $120,000 per year? Which one would he/she prefer? How can you answer this question by just looking at the graph?

8) Make a general statement about which salaries might prefer a 20% flat tax and which will prefer the progressive system we have today.
